Exam on the Mechanics of Structures (MoS3 CES), 26.06.2019

LAST NAME, FIRST NAME (PLEASE, HANDWRITE VERY CLEARLY WITH CAPITAL LETTERS)

index number

ocena zadania 1 ocena zadania 2 ocena zadania 3 ocena egzaminu pisemnego
Problem 1.
Calculate the reactions at supports for a beam
in Fig. 1
EJ = const. , k= 2.6244%
KTRTETE /i‘% TR IRTE TR TR T
Problem 2.

Calculate the frequency of natural vibrations for
a curved bar in Fig. 2.

-Next, calculate the reactions at supports for
t =0sec. ,t =25 sec., and t = 10 sec.

Assume:
E =205GPa,G=0.38F ,
b4 . a4
— =],
J 12 y Jy 7J,
and

R=2m,m=100kg .
lmbial comdibioma: alo)= 4OC/M,)

v (0) = 0™/, e

Problem 3.

Derive the equation of motion for a structure in
Fig. 3.

Assume E,G, J, J,, R,m as in Problem 2, and
0=08w.
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